
P2090-739
IBM

IBM InfoSphere Guardium Technical Mastery Test v2

https://www.certkillers.net/Exam/P2090-739



 
   

 
 

   
   

 
  

 
 

 
 

 
  

 
 

  

   

 
 

 
 

 
 

 
 

 
  

 
 

  

  
 

 
   

 
 

 
 

QUESTION: 40
 
What is Guardium's primary storage mechanism for logs and audit information? 

A. Data can only be stored in flat files on the collector (one file per S-TAP).
B. Data storage can only be managed individually by each S-TAP, with audit data stored
locally on the data server in flat files.
C. Data is stored on the collector in a normalized relational database.
D. Data is stored locally on each server with an S-TAP but is managed centrally through
the collector.

Answer: C 

QUESTION: 41
 
What is a security policy?
 

A. A series of transactions where the data server communicates with the collector and
shares its current security status.
B. An XML file that must be manually created and configured so the S-TAP can
understandthenature of the traffic that it reports on.
C. A Guardium object containing an ordered set of rules that are applied to the observed
traffic between clients and data servers.
D. A specially-formatted document from a government or third-party institution that can
be imported into Guardium for easy audit configuration.

Answer: C 

QUESTION: 42 
Which of the following best describes the role of the aggregator in a Guardium 
environment? 

A. The aggregator is a Guardium appliance that collects and consolidates information
from multiple collectors to a single Aggregation Server, allowing for reporting across the
enterprise.
B. The aggregator is the Guardium appliance that communicates with mainframes.
C. The aggregator is a Guardium appliance that allows a collector and a Central Policy
Manager to communicate and is required in multi-collector environments.
D. The aggregator is another name for the Central Policy Manager.

Answer: A 
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QUESTION: 43
 
Which of the following is not a valid termination action for an extrusion rule?
 

A. Termination actions are not available for extrusion rules.
B. S-TAP Terminate.
C. Termination actions are available for extrusion rules, however these are executed by
the database management system and not Guardium.
D. S-GATE Terminate.

Answer: D 
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